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Choase the one which best |
expresses meaning of the givea
word,

exhort |
(@) recommend (b} coax

(e} pressure {d) push

Below are given altermatives o the
Dokt purt at (a}, (b and () which
may [mprove fhe  semhenie.
Clhose the comeet altemative. In
cnse oo improvenent is needed,
oy answer is (d)’, |
The grownd wes wel outside
when T got up in the moming
vesterday. It had been raining
all i the night.

{u) rained all in |
(b been raining all though

(i} ramning oll in

() Mo dmproverment

In the below question. sentence
buas been given in Direct/Indirect |
Spesch, Ot of the  foue |
altemnatives suggested, select the
anc which best expresses the
same sentence in IndireetThirect |
Spesch.

David suid to Anna, “Mona will
Jewa for her  native  place

MW,
fa} Travid 1old Anna that Mona
- willleave for her native place

TUBOTOT
(b) David told Anna that Mona

left for her native place the

ext day |
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g

o

=

() David told o Anna that
Mona would be leaving for,
her native place tomormow

(d) David told Anna that Mona |
would leave for her native
place the next day

Tn the following question, out of

the four alternatives, choose the

one which bhest expressed the

meaning of the given word.
Infamy
() notariety {h)y gloey

[} integrity () familinrity
Find vut which part of a sentence
has an error und the oumber of
that part is your answer, If a |
setitetiee i free from errors, your |
angwer is {d) f.e. No error,

The minister for *Education’ (a)y
vehemently refused (b)Y  the
alleganon that he had taken
bribes.(¢}' No error. (d)

In the following questions, out of
the four alternatives, chouose the
one which best sxpressed Ihz
meaning of the given word.
Intrepid

(a) hesitant (b} fearless
{c) extrovert  (d) rush
Chopse e word which is MOST

OPPOSITE IN MEANING m |
the word printed in bold.

Considerate
{) ignorant b laey
{c) amgry () insensitive

Which of the phrases {2, (b, {c) |
and (d)given below, the sentence
should replace the phrase printed
a5 bold ini the sentence to make it |
grammaiically eorrect? g

=

1.

A friendship founded o business
is best thun o business Founded
wan fricndship.

{a) is good than

ih} is hetter than

fe} is hest than

[d) is betrer then “

In the following questions, fill m
with un sppropriite word oul of
the four alternatives.
171 Bl helped him, he
() will not be drowned

(b1 would not be drowencd

fek will not have deewned

(d} would not Eave drowned

A semtence with four | wondy
printed in fafic type 15 given
These are lettered as (), {h, (c)
and (d}. Oneof these four words
printed in bold may be either
wrangly spelt or inappropriate
in the context of the sentonce.
Find out the word which is
wranghy spelt or inappropriate.
The informution (2) provided
(b o the stafl was not adeciare
(&) and evervons refuliaied. ()

. Choose the word opposite m

mn_anmg to - the piven word

{d} mierraphion



i
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Below are given aliematives o
the Told past at {1, (h) and ()
which  mny  improve:  the
senfence. Choose the correct
alternative In case  no
improvement is needed, vour
answer is “(d)’.

The women's Emancipation Bill |

was sent buck to the ok Sahha
by the President [or further
examination.

{0} further security

{b} Further reading

{c) further perusal

{d) Mo improvement,

. Uhoose the wond opposie in

meaning te the given word:
procrastinate

{a) experiment (b expedite
{c) exclode (d) propagate

. Find out wheiher there is any

grammatical ‘crrer er idiomutic
ervor in it. The error 4f any, will
be in one purt of the sentence,

He walked as faster (@) 05 he
eonld s that (bl he would not

1) mass the i bo work.(d)

. In the below question, seatence

hxls bncugm:n in Dmx.t Andirect
cell. Out of the | four

al ntives suggested, select the

one which best cxpresses the

sanme sentence in Indiecl T

Speech.

Kiran asked me, “Did you see

the ericket maich on television

Tast night”,

{a} Kiran asked me whesther |
suw the ercket nmich on
television the carlier night,

ib) Kiran asked v whether 1 |

+ husd wen the cricket match on
televiston the earlier night

HRohan walks a distance of 3 kms
fuwnrds north, then turns o his
left and walks for 2 kms. He
apain turns left and walks 3 kms.
At this point he mms fo his left
and waiks for 3 kms, How many
ks i% from the starting point ?

) % e
() 1 kma

{a) Skms
fc) 2 kms

i) Kiran asked me did | see the
cricket match on television
last night

(d) Kiran usked me whether [
htel smen the ericket mteh on
television last night .

Chuose the word which is most |

similar in meaning o the word

printed in hold: relived

(a) exempted (b} backed

(e} supported . (dp calmed

ch of the phruses (), (b), (c)

il i) griven below the sentence

shiauld replice the phrase peinted

as hold in the sentenee 1o make it
grammatically correct? 1
Right action cannot came out of |
nuthing, it st be preceded by
thought,

- &) come out of

I

.

m

.

(B came ol off
Ic) come off'
id) coming ot af

. Find out whether here 15 any

grammatical crror o idiematic
errer in it The ermor, i eny, will
be in one part of the sentence.
Progress is impaszibile ()¢ without
change, and those () who eannot |
chanpe their ‘'minds (¢} camneot
chianige nothing i)

Chogse the wne  which - best
expresses meaning of the given

repariee
[a) refiese b} celebrite
() response () question

Choose the word which is mest
similar in meaning to the word
printed in bold @ assured

{u) insured (b definite

() doubted i) wonfident

1E MERTF 34 coded 91782 and
LLLIK s 88867, then how can
TGHED be coded 7

(ah 9TR3S {hh 64521

(eh 5344 {dy 75632
While the groug phon of o
farily was taken, fhe father wus |
found to he sitfing to the lefl of |

2L

ik
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Choose the word which is MOST
OPPOSITE IN MEANING 1o
the word printed in hold.

furthest
{a) longest b1 closest
{c) greatest . (d) shorest

In the following questions, fill in
with an appropriate word out of
the four alternatives,

LuSsume ......... with me

(A} every one agreeing

1) that every one aprees

(2} CVEry one I agree

(d) thist every one w agres

. A sentence with four words

printed in Frafic type is given,
These are Tettered 85 {a), (b, ()
and {d). One of these four words
printed in bold may be cither
wrangly spelt or inappropriate
in the context of the seatence.
Find out the wond which s
wrongly spelt or inappropriate,
Waorried (ay that he will fail in
the exams, Satish stayed () up
the whole kmight (2} and
studied 1)

In the fullowing question, fill in
with an approprisle word oz of
the four altematives.

When will you hand =2 ¥OuE
sssipnment?

i) i (b hack

(e} dovr (i) inta

. In the following question, out of

thie four alternatives, chonse the
one which best expressed the
meaning of the given word.
Barren |

{a) good

i1 wholesome

(ch unproductive

{d} profimble

the  %on o and right ' he
grandmother. Mother was sitting
1o the right of hor dasghser but
left o grandmother. Whe s
oceupying the central place !

(3) S

() Cirandfather

() Father

(il Mother
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seyuentially placed at
the given letters  ser
complete it 7

ab ban o ah

{it) bisabh, (b} azhah

iv) asbaa i) anmaa

Sty the two different positions |
of a cube given below with dots
m-m I w% marked on'its faoes.

Find many dors are there | |
on |hc tmx wppositc 1o that
containing & dots.

@1 2 |
{c) 3 ()5

Insert the missing number |
(222 by 33

ek 11 dy 44

Which one of tha Biven responscs |
wonild be ToEaningf ful ander of |
the fullowing ¥
L. Bentence:

P

(<|) 43,125
it.) 35,142

Findd out ﬂ:c quisticned numbcl
H:508
(ay 2 )t |
fe) 6 1d) 10
Select the relited word from the
given aliematives. |
Physicidn { Treatment :: Judge - 7 |
(i) Punishment (b} Judgement
() Luwiior ey Coure
Winod infroduces: Vishal as the
son of the only brother of his
father's wile, How is Winod:
telatedt to Vishal ?
() Cousin {b) Brother
{2} Son {d} Uncle |

. Select the related number from

the given allernatives.

MEN: 1354 Fxi:?
() 1415 b 5=17 |
(e} Bilg (i) 719

41,

Fnctinsing year after yeir mop
village. Find oot the missing
population. from . the following |

nform nucm
Years Pupnlglhm |
B i
1592 |_ 1 _| :
1593 2 |
1994 7
& e s 1
AL i
{n) 22 b 32
(e} 28 () 34 |

. Seloct the related letter from the

Biven alternatives,

ABCD : WXYZ 3 EFG
(i) STUV (b} ZYRW
1) VIS () WXZY

O evening, Raji sarted '

walk fowards the Sun. After |
walking uwhile, he turned to his
right and wynin to hisright, After
waslkin - while, hie gain turned
right. In which dirsction is lw

Faging?

{#) South (B} Fast

o) Whest (d) orth -

In a joint family there are father,

|
mather, 3 married sons and one |
unmarried daughter of the sons,
2 have 2 daughiers each, and one
has u som, How many female
entbers are there is the family? |
{a) 2 (b3
{c) 6 idy &
Select the related word from the |
given alternatives,

'SAFE:SECURE": PROTECT 2
(u) muard {B) Jock
e} g {dy sonserve |

A5 Inwrow of wees, @ wee is Tih

43,

fron feft end and 14th from the
right end. How muny trees are
there in the row? |
(a} 18 fhE 19

{e) 20 (d) 21

Five girls M, N0, P and Q are |
stending i a row, P is on the
right of 0. M is on left ol () but is
onthe right of M. P is on the lefl
of £. Who is smnding on the
Jexiremc right ¥ i

44,

4,

47,

48,

4,

i

Sl

(ay O (b N
{e1 () P
1 1 o language PARENT is
writicn as BDFGIK  and
CHILDREN s ‘written s

MOXOUFG), how is REPRINT
written in the cade

fa} FGRFXGL (b} BOREXTK
{c) FGBUXTK (d) FGRFXTK.

. How many IDcI:ngi:ﬁ are there

in the grven figone §

(a) 24 by 19
(e)22 ) 14
Seleot the missing number from

the given responses
12F, 144, 289, 324,529, °576,
g

fal 96 (b} B4

{1 900 idh 1320
Seleet the related Tetter froum the
ven allematives,

MASTER | (OMCUVGT &
LABOLR -7

() NCDOWT

(B NTIERW T

{o) MNBEECRWT

(d) NEBRWT

It Tohn eelehrated his vietory day
on Tuesday, Sth lanoary 1985,
when will be celehrate iy next
victory om the same day ©

) 3 Tamuary, 1970

(b1 3 January, 1971

(e} § faniury, 1973

(43,8 Timuary, 1974

Select the related number from
the given aliematives,

162565337 _
(2] 96 thy 112
{e) 120 d) 128

Which ome of the given responses
would be a meanmgfial nndcr of
the forlboring 7

L Adul 2. Child
3. nfunt 4. Pin»
)l 34,2 by 3,24, 1
(eh2,3,4,1 {dy 1.5 2
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. With which brand would you

. Conuntssion  for  Agricultural
Costs and  Prices {CACPE)
repomimends :

. In [ud.la firests account for about

. International Physics Olympiad

2000th 1CC st held between
India and
() Australi
{h) England
{u) West Indies
(ulh Pakisin

identify the famous wdvertising
slogan “Think Different” 7

{a) Apple

(b 1BM

el Wipro

{el) Mone ol flicse

{a} Comtort Prcs

(b} Stute Advised Price

() Minimusm Suppon Prive

{1y hlinimum Export Price
hosted - the TN
cony cnllon nn Biodiversity from
Oigtober 1-19, 2012 7

{a) Geneva () Toranto
(e} Hydershad  {d} Rome

. of land surface.
m 1% () 22%
(e} 33% (d} 14% |

was held from ](l-m July, 2011
im . vaaas

(a} Rome {h) Genevit

() New York  {d) Rangkok
Mr, A K. Antony a Union
Minister in the Tndian Cubinet
recently signed an agrecment with
South Korea, This agresment wis |
far the Co- operation in the figld |
of :

() Agmenliure

() Rural Development
() Defence

() MWone of these

Vedanm Aluming 38 8 Company
‘pperating in the i of:
(4) Shipping  (b) Minitig
(¢} Coment . (d) Textiles

. The Press Freedom  Day | is
ubserved on  whigh of the
fallowing days 7
{a) bst May k) 151 une
(c) drd May  (d) 3nd June

62
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ich of the following s
abbreviated  name  asenciared
with food security ¥

(8) ASHA (b} PD5

(e) WTO (i) NPA

. India has recently decided to put

o owire fence on - the Takm long
border in Dhudri district i |
Agsom. The fence will separute
India from :

i) Nepal () China

{t) Bangladesh {d} Myammur
A5 per GOP figures on calendar
year basis, according fo World
Bank, which one of the
following cconomies will have
highest GDP growth in the year
20112

fa) US (b} China

(e} Japsn id) Indiz
Which of the fillowing banks
Thas taken over the Cenfurion
Bank of Punjab 7

) 1CICT Bank:

{b) LB Bank

(¢ HDFC Bank

(d) AXIS Bank

Under what name is MTRL
marketing it CDMA based |
WiLL ‘servies in Mumbai and |

Delhi 7
{u) Dalphin
(g} Crareda

by Swama
(dy Seemi

. Golden revolution refers to the

development of ;

(1) Oilseeds  (b) Pulses

{c) Horticulre (d) Cereals
National Rescarch Centre on
Plant. Biotechnology is situated
at

{a) Wagpur b1 New Dethi
(¢) Mumbsi  (d) Kolkata
Which of the following is un
soonomic term 7

{a} Plaintitt

(1) Bunker Blaster

(¢} Deflation

{dy Lampoon

I which oae of the following
States is the umuum project

69,
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Indian

Cosmetic  doyenne
has been presented with
a shicld of Honeur by the Oxford
University.

&) Moeera Kumari
(b} Angela Perutizs

(¢} Anu Sisters

i) Shihnze Husain

. Bird flu affects :

{a} Cattle
{c} Sheep

(b} Poultry
) Silkworm

- Which of the following is the

nme of a private seotor Bank in

India

fa} MBI Bank

() Axis Bank

(¢} Corporaton Bunk

(dy UCO Bank

Bayuna which waam EWs Tec-

ently ia ap]ane_m

() Ut Prudesh

(k) Madhya Pradesh

{c) Bihar

{d} Rajasthan

A per recont newspaper reports,

which one of the following

countries {among the given) bas

highest literuey rate ?

i) Tndia (] Srf Lanka

[c} Chine () Vietnam

A characteristic of o file server is

which of the following ?

(a) Manages file operations and
s shared on a network

b Manages file operations and
is limited to one-FC

(e} Acts a5 far client and i

shared on a network

fdy Am as fat client ond is
limited to one PC

India paid 2700 cr as penalty 1o

World  Bank © ‘and  other
imemstional  ggencies  due
10,

{a) Waorld bank hates India |
(B prepayment df loans

(c} detay in the payment of debts
(of) deldy in the ex!ﬂ!l\efu of

projects
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Which 15 a device that changes |
infurmation into digital form 7
(&) Moddem

b} Digitizer

{&) Mouse |
(e} Light Pen
Whe  bailt
electronic.
telephong
batteries 7
{n) Claude Shannen
th) Konard #use
e} Greorge Stibits
(d} Howned H, Aliken il
When “n' is divisible by'S the
remuinder 45 2. What s the |
remainder when n' is divided
by 57

e world's first |
calculator  using
relays, light bulbs and |

{a) 2 (b 3
feh 1 1y 4 |
Hard disks and disketiesar :

() Direct aceess storage devices |
(b) Sequential  acoess sfurage
deviges |

() Rarely used with micro-

compaters |
{d} Both () and {e)
The sum of two numbers is 24 |
and their produet is 143, The [
sum of their squares iy :
(8] 296 {b) 295 [
fc} 290 (d) 228

. The computer translates the |

condition of each swikch 1o a

number,  What  number s
Tepreseated by the OFF state 7 |
fu) 7 (b -3.75

fe)1 dj 0

By what least number 2744 he |
multiplied to uhtain d number |
which 15 perfoet square, -

(a) 5 7 |
fe) 8 gy 14

The urcas of three consecutive |
feces of a cuboid are | 2ens, 20
om* and 15 em”, then the volume |
{in em ") of the cuboid i : |
{a) 3600 (b 100 |
{c) B0 () 60 |

B4, The sum of two numbers is 45 |

#6.

B

0.

.

¥2. The difference

=

T T

and their product is 500, The

GLCF, number s ; |
(m) 5 - (hy®
() 10 () 15

A work can be complete by P |
and Q in 12 days, Qand Rin 15
days, R and P in 20 days. In how |
many days I alone can finish the
work ?

) 10 {b) 20

{c) 30 {d) 60

Which nerwork 48 a packer |
swilching network 7

1) Ring Netwark |
(b) LAN

(&) Star Network |
id} Euro NET |
An  index regisier that s |
mrlomatically  incremented  of
decremented with each use is - |
(@} Auto ndex p

(b} Asynchronous
[} Assembler

d} Compiler |
The value of (0.7 = 0.7 « 0.7 —
6 < (LA = 06 ) = (0.7 = 0,7+ 06 |
0k 0T % (ha) s

(a) 0.1 (b 1 |
{c) 1.3 () 1.1
H: y2 475 then(3r + ) (Se 4 |

3r)
@) 3:5 3

ey 17535 {d)35:17 |
The ratio between two members
82 1 3, ¥ ach number is incre- |
ased by 4, the ratio between them |
becomes 5 7. The difference bee-
ween the numbers js ; |
(i) & Hi6 i
(e} d () 2

The wheel of & motar cor makes |
1000 revalutions in moving 4410
m . The diameter (in metre) of |
the wheel iy ;
fan) D44

fe} 0.24

(dj 0.34
Betwcen
discount of 40% n 2500/~ and
two  suceessive discounts of |
6%, 4% on the same amoung

by 0,14 |

93,

94,

95,

96,

97,

98,

o | 100,

(21 20 [b) % 2

() ¥ 1930 ) ¥ 7,20~

11" the vost price of 15 articles is

equal o the sclling price of 12

articles, (md gain %,

{m) 20 (b) 35

() 18 (d) 21

Which ol the following is not une

of the three primary fundions

that on-line direct-access svsteis

can seeve

(1) ingquiry

() backup

() update

[y Programming

A madem electivmic computer is

A michine that is mesnt for ;

fa) Doing quick  mathematical
caleulations

(b} Input siorage, manipulation
ol sutputting of daty

(¢} Electronie dala processing

(d) Performing repetitive tashs
Acciirately

RAM is used 35 a short mEmory

Becanse it ;

(&) bs volatile

(b Haus small eapacity

() Is very expensive.

(d) 1s programmable

‘' number men eun finish &

piece of work m 30 duys, T¥ thepe

wers 6 men more, the work

aould be finish in 10 days less.

The ariginal manber of men is -

fa) & b} 10

{g) 12 (d) 15

The least number which shoyld

be added to 2457 50 that e suny

is exacily divisible hy 5, 6, 4 und

T

W B 13
(e} 23 (dy33

99, 120> 1201= 9°
() 1442400 (I} 1600060
(c) 1234567 (d) 1587690

How many bits can be stored in
the BK RAM 7
{2} 000
fad 4000

{b) 8192
{d) dirss



	IMAG0001.pdf
	IMAG0002.pdf
	IMAG0003.pdf
	IMAG0004.pdf
	IMAG0005.pdf

